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(b) talkative yfror

(@) The correct answer is To be in trouble.

The given idiom means a difficult on dangerous
situation.
(c) Animosity
(d) Abdicate
(b) Red-tapism
(@ of
(b) to
(d) render

fsere
(d) dispersed

(c) The correct answer is — To become very excited
or angry.
(a) recollect

(d) He requested the interviewer if he could repeat
the question

(b) was broadcast

(a) have been

(d) no improvement
(a) were killed

(a) Hardly he he entered
(d) bride him

(d) to attack unfairy
(c) go

(b) inclination

(d) puzzle

() warn

(b) mentally alert

(c) friendship

(b) reasonable

(d) accept

(d) apprehend

(@) unwilling to change
(d) Restaurant
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